5{‘(1(1?\'};??1(2—0 10:43 PM !“'LE “-S i
(D S\'WW tLad Al e\w\\\/\*) Fl-" (‘;-1) l) )PZ:(O)".-Z) ) an A P3= (‘Z)I)O)

(v e coflww) Che P,)lelo3 Lie 1 te sume PUM.

3‘0_\:‘1"21/\ Fron Yhe f{u\‘m, We can See ‘H‘A‘I' P,,PL,Fj ol C’f"”“-"z
(A wld @"\’3 V& +le Nectors W,V W afe co/dn/m/.
LOWQ\A{, \}\l\\l\}) |
W= Rr® = Ny T e2) v 0Py (2,0,-2) w e (-3)2,-0),
We ste Ahak (L0 W aie coplmay i pxw uo&haowﬂ to V.
To sww X wrw AN W nath o Show Hur v (wxwy=o,

we  have Ve (wrw) = (2,0 -1) ‘“\ 5 K’;
- 1 -

-2 =)
(180 2] Y

2\ el g
O

i\

-
-

Y,

Ansther  puesibue app conch ¢ Pk e Qdone that  cordylas Py P, Ps.
F\;ﬂ‘\' %CO\\M T‘\?\n, ?T‘D()\\LC‘\' W ¢ (\lwa

sek  w= (7))
W = kX? \0) ‘5\1-33

XA \51 &.,

X'?, YA ZZ
X3 ¥3 23

Section 1F Page 1



vV v o

= \NS\ume BA’ '\T\). {o\qu\\\z,\ep\e_zsx 5\€um,¢A \ng W\, w

e
NS / / Pusalle Lef% fe«k

~

—

AN

?"\“&L@V’}\ Wes O Vo goken NSSAVURVY o\N—cDe\aml.l



Problem 2

Sunday, April 5, 2020 11:16 PM
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Problem 4

Tuesday, April 14, 2020 8:07 PM
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